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QUESTION 1

You are responsible for installing and setting up WebLogic Server to support the development, testing, and production
of an application. Each phase of the application\\'s life cycle has different scalability, performance, and security
requirements.

How will you implement this?

A. Create a single domain with three clusters

B. Create a single domain with three administration servers

C. Create a single domain with three managed servers

D. Create three domains

Correct Answer: C

Reference: https://docs.oracle.com/cd/E13222_01/wls/docs90/domain_config/understand_domains.html

QUESTION 2

You set up two network channels for server -to-server communication. You want channel x to be used more than
channel Y, so you give channel x a higher channel Weight. You want to see if indeed channel X is used more.

You use the administration console and look at both channels under each one\\'s Monitoring tab. What scenario would
best assure you that channel x has an overall higher connection rate?

A. Channel X Bytes Sent is higher.

B. Channel X Bytes Received is higher.
C. Channel X Accept Count is higher.
D. Channel X Connections is higher.

Correct Answer: D

QUESTION 3

You have an existing domain and need to add a new managed server to it.

Which three statements are true concerning the creation of managed servers? (Choose three.)
A. A server must be assigned a machine

B. A server must be assigned a listen port

C. A server\\'s name cannot be changed after it is created
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D. A server can be associated with a server template
E. Servers can have duplicate names as long as they have unique ports
F. A server must be assigned a listen address

Correct Answer: ABF

QUESTION 4

You need to take a web application offline.

Which three options are supported In WebLogic Server when you stop a running application?
A. Terminate HTTP sessions immediately.

B. Terminate HTTP sessions after three minutes .

C. Move HTTP sessions to a database.

D. Wait for HTTP sessions to time out.

E. Allow new requests only through the administration port.

F. Move in -progress requests to another server in the cluster.

Correct Answer: ADE

QUESTION 5

One Managed Server that is part of a large domain throws java.lang.out of Memory error (OOM) occasionally.

You have been monitoring this server with the jvisualVM tool but that didn\\'t help because the issue occurs infrequently
and not a specific scenario. So you decided to force the server to dump the heap memory as soon as an OOM gets

thrown in order to analyze the dump file later.

How do you modify the Java HotSpot Startup command to enable this feature and save the dump in the directory
D:\hprof-dumps\?

A. Add-xx:+DumpHeaponoutofmemory-xx:Dumppath=D:\hprof.

B. Add-xx:+HeapDumponoutofmemoryError-xx:Heapdumppath=D:\hprof-dumps.
C. Add-xx:+DumpHeaponoutofmemoryError-xx:Heappath=D:\hprof-dump.

D. Add-xx:+HeapdumponoutofMemory-xx:HeapDumppath=D:\hprof-dumps.

E. Add-xx:+HeapDumponoutofMemoryError-xx:Dumppath=D\hprof-dumps.

F. Add-xx:+HeapDumponoutofMemoryExecepttion-xx:HeapDumppath=D:\hprof-dumps.
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Correct Answer: B

QUESTION 6

Which three statements are true about the Change Center in the Administration Console? (Choose three.)

A. The Change Center has a link to view any servers that need to be restarted

B. In a Development Mode domain, the configuration lock can be acquired automatically

C. The Change Center has a link to view the changes made so far

D. Locking the console prevents other privileged users from taking the lock until you release it or activate your changes
E. After activating the changes to a server\\'s configuration, you must always restart that server

F. The Change Center is available only in a Production Mode domain

Correct Answer. ABC

QUESTION 7

You are using the Configuration Wizard to create a new domain that will host an EJB application without a
cluster. Remote EJB clients can therefore take advantage of WebLogic Server\\'s load balancing and
failover capabilities.

However, a proxy server exists between the EJB clients and this new cluster.

Which cluster attribute should you modify in the Configuration Wizard to ensure that external EJB clients
are routed correctly through the proxy?

A. Messaging Mode

B. Cluster Address

C. Broadcast Channel

D. Replication Channel

E. Cluster Type

Correct Answer: B

Reference: https://docs.oracle.com/middleware/1213/wls/CLUST/coherence.htm#CLUST660

QUESTION 8
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You need to monitor the HTTP session count for a running web application.
Identify three ways to perform this monitoring.

A. Run the jstat tool in your JDK.

B. Write and run a custom WLST script.

C. Use the application\\'s Monitoring tab in the Administration console .

D. Use the Monitoring Dashboard in the Administration console.

E. Use the cloud control page in the Administration console.

Correct Answer: BCD

QUESTION 9

To support a growing application workload, you need to scale out an existing (nondynamic) cluster. You power up the
new hardware and install WebLogic server.

Which two changes are mandatory for you to make to your domain configuration?
A. Create a new deployment plan.

B. Create a new machine.

C. Create a new server.

D. Add a server to the cluster.

E. Add a server to the machine.

F. Add the cluster to the machine.

Correct Answer: BC

QUESTION 10

An administrate in your organization says you do not need to back up the domain files on a machine which only
managed servers run.

Select the best explanation for this statement.

A. This Is true because the domain files can be re-created with the pack and unpack utilities.

B. This is true (with an exception) because the domain files can be re-created with the pack and unpack utilities. The
exception is if your security realm uses the embedded Idap system. Which is not included in the JAR file created by the
pack utility.

C. This is true (with an exception) because the domain files can be re-created with the pack and unpack utilities. The

exception is for applications that are deployed to the managed server. Those files are not included in the JAR file
created by the pack utility. If you back those up manually, then pack and unpack can be used.
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D. This is not true. You need to back up the domain files on a machine on which only managed servers run by using
operating system commands (such as tar or zip).

Correct Answer: A

QUESTION 11

Which three statements are true about the administration console?
A. The administration console can be disabled.

B. The context path of the administration console may be changed.

C. If a domain is in Development Mode the administration console no longer requires an administration level user when
logging in.

D. If a domain is in production Mode, access to the administration console must be made through a secure port.

E. If the domain\\'s Administration port is enabled, access to the administration console must be made only through that
port.

Correct Answer:. ABE

QUESTION 12

In the certification matrix for your version of WebLogic Server , you find the row for your database and its version. In that
row, in the "type of database use" column, it says "application data access only".

Your database cannot be used

A. By the administration server

B. For internal data storage by WebLogic server
C. By a multidata source

D. In a production environment

E. By an Enterprise JavaBean

Correct Answer: B

QUESTION 13
A web application is configured for in-memory replication and is deployed to a cluster. This cluster is distributed across
two buildings on a university campus. For performance reasons, you require that session replication occur within the

building whenever possible.

How do you implement this requirement?
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A. Disable the dynamic server list in the proxy plug ?n.
B. Configure the cluster to use multicast communication.
C. Configure the application\\'s cookies parameters.

D.

Configure each server\\'s replication group.

Correct Answer: D

QUESTION 14

You are responsible for configure a WebLogic domain to support an order processing application. This application will
communicate with multiple JDBBC data sources to fulfill each customer order. To maintain data integrity across these
databases, work will be performed within a global transaction. However, you have learned that one of the data sources
in the transaction does not have an XA driver.

Which option should you select on this non-XA data source to ensure that orders are still processed as global
transactions?

A. Ignore Heuristics

B. Pinned to Thread

C. One phase commit

D. Logging connections on Resource
E. Test connection on Reserve

Correct Answer: D

QUESTION 15

When creating a dynamic cluster, you have multiple options concerning how dynamic servers are distributed across
machines in your domain. Identify three supported configurations. (Choose three.)

A. Use all machines in the domain

B. Use machines whose names match an expression
C. Use a percentage of machines in the domain

D. Use all machines in a subnet

E. Use a single machine

Correct Answer: BDE

Reference: https://docs.oracle.com/middleware/12213/wls/TASKS/clusters.htm#TASKS257
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